
①

(a) 11.1-26
- 26.

possible licences
=⑰,

ouo

-

(b)

datantly
counting

iithem

abdec 3 . 2 : I L

a bed c 6
a deb I
-----

adbec 3 . 2 . 1
= 6

aedbc

a ebdc

6 permutations
answer =[



②
(a) S = [ (H , H , H) , (H , H,T1 , (H,

T
,
H1
,
(H,T,Ts

(1
,
H , H1 , (T, H ,

51
, (T,+,H1 , (T, +, +13

(b) = = G (H , T , T1 , (5, H ,T) , (T,5, H) , (T,
+
, +13

F = [(T ,+, H) , (T,
H
,
T
,
(H , T,T}

E1F
= F

EVF= E

F = G(H , H ,H) , (H ,
H, ) , (H ,

T
,
H)
,
ST

,

H ,
HI s

(T ,T ,T13

(1P(E)
=
= = t

P(F)
= 5



③

(a) See HW 2-problem #10

-

(b) See HW 2 - Extra problems

problem #Z

-



④
⑪

, 50 - 49 !

(a)(3)=: : = -6 , 49 !

132
,
600

= 22
,
100
- E

6

-

An
Steel: Pick face (1) = 13
value for pair

suits for pair I
#
mys

Pick two
Step 2 :

-/Step 3
: Pick last

-

cond .

Can't be

one of
the = 48

pair .
-

13 : 6 . 48 3
,
744 ...Y

probability is 500 ↳100
=

~ 16 .
9 %



⑥ (a) (i)= = =

s=
-

(b) # ways to pick one black ball and

one Orange
ball is (3) . (i) = 3 .= 12

probability is is t

-
-

(C) # ways to pick two
balls both

with an odd # on them
is

5 . 4 -5' =10
--

(2) =s: 2 . 5'
.

probability is--
-


